
New Product Information
January 2019

Prices include VAT.
Part numbers are used for identification purposes only and do 
not imply or indicate the identity of the manufacturer. E&OE.

A
va

ila
bl

e 
fr

om

PRICE FROM

uksales@britpart.co.uk                www.britpart.com

Britpart, The Grove, Craven Arms,
Shropshire, SY7 8DA, UK

Defender - from 1983 onwards & Series 2 & 3 
These stainless steel door threshers will freshen up the inside of your Land Rover as this is 
an area is which can get very scruffy. All of the existing holes on the sills line up with these 
doors threshers so they are a quick, easy bolt on project. The door threshes are made from 
stainless steel 304 grade bright annealed 1.5mm thick and are laser cut and CNC pressed. 
Stainless steel fixings are supplied. Note - If your door seal is fitted to your sill rail, you may 
need to modify the sill rail.

DA4789
Defender
Discovery 1
Range Rover Classic
Stainless steel rear brake shield bracket.
Single. Manufactured from stainless steel 
316 grade, 3mm thick and laser cut.
Equivalent to LR017513 & FTC3299.

DA4788
Defender / Discovery 1
Range Rover Classic
Set of 4. Stainless steel top of rear chassis 
shock mount washers. CNC machined 
from 316 stainless steel. Equivalent to 
RYF500210 & RYF500220.

Stainless Steel Door Threshers

DA4790
Front door threshers
For vehicles without sill seat belt mounts
DA4791
Front door threshers
For vehicles with sill seat belt mounts
DA4792
2nd row door threshers
DA4793
Front & 2nd row door threshers
For vehicles without sill seat belt mounts
DA4794
Front & 2nd row door threshers
For vehicles with sill seat belt mounts

DA4790 DA4791

DA4792

DA4793 DA4794

Stainless Steel 
Brake Shield 
Bracket

Stainless Steel 
Chassis Shock 
Mount Washers

DA4795
Defender / Series 2 & 3
Stainless steel rear crossmember fixing kit.
To bolt rear tub to rear body mounting to 
chassis. These are like for like on Defender 
TDCi rear cross member but in stainless 
steel A4-80.
4 x M8 A4-80 x 20mm Hex Head Bolts
10 x M8 A4-70 x 30mm Pan Head Bolts
4 x M8 A4 Spring Washers
14 x M8 A4 Flat Washers
1 x T40 Bit

Stainless Steel 
Rear Crossmember 
Fixing Kit


	Text Field 2: 
	Text Field 3: 
	Text Field 5: 
	Text Field 7: 
	Text Field 11: 


